
2/1
CHANNELPOWERAMPLIF

IER

103

102

101

105
104

107

106

R

Packing Assembly Parts List

Part No. Part No.

101 03E34961S01 SCR,M4X20 TPG1(BLK) 106 01E24042S01 ASS'Y KIT SP-IN WIRE
102 03E34955S01 SCR,M3X10(B)MCH(BLK) #1 107 68P02294K68 OWNER'S MANUAL
103 15E34956S01 COVER,RCA $1 107-1 68P02294K72 OWNER'S MANUAL(GE)
104 28E20925S01 HOUSING RUBBER-A $1 107-2 68P02294K73 OWNER'S MANUAL(I,G,S)
105 75E22439S01 HOUSING RUBBER-B

NOTE : #1 : For North American Model Only,  $1 : For General Foreign Model Only,  Others : Common.

Packing Method View

Symbol Description
No.

Symbol Description
No.

TO CONTENTS



MRP-T220 
 
Electrical Parts List 
 
*******MAIN P.W.Board      
=======IC's      
 IC101  51E22130S01  IC, NJM 4560M-TE3 
 IC102  51E22130S01  IC, NJM 4560M-TE3 
 IC103  51E22130S01  IC, NJM 4560M-TE3 
 IC104  51E22130S01  IC, NJM 4560M-TE3 
 IC201  51E22130S01  IC, NJM 4560M-TE3 
 IC202  51E22130S01  IC, NJM 4560M-TE3 
 IC203  51E22130S01  IC, NJM 4560M-TE3 
 IC204  51E22130S01  IC, NJM 4560M-TE3 
 IC601  51E27890S01  IC,uPC 494GS 
=======Transistors/FET's      
 Q501  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q502  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q503  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q504  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q505  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q506  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q507  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q508  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q509  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q510  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q511  48E09088S01  TR,KTC 3198-Y-RD 
 Q512  48E09088S01  TR,KTC 3198-Y-RD 
 Q513  48E09036S02  TR,KTA 1266-Y-RD 
 Q514  48E09036S02  TR,KTA 1266-Y-RD 
 Q515  48E08329S01  TR,KSC 2682-Y 
 Q516  48E08329S01  TR,KSC 2682-Y 
 Q517  48E23701S01  TR KTC 3228-0-RD 
 Q518  48E23701S01  TR KTC 3228-0-RD 
 Q519  48E23700S01  TR KTA 1275-0-RD 
 Q520  48E23700S01  TR KTA 1275-0-RD 
 Q521  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q522  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q523  48E27748S01  TR,KTD 718-O 
 Q524  48E27748S01  TR,KTD 718-O 
 Q525  48E27747S01  TR,KTB 688-O 
 Q526  48E27747S01  TR,KTB 688-O 
 Q601  48E29405S01  FET, IRFZ48N 
 Q602  48E29405S01  FET, IRFZ48N 
 Q603  48E23701S01  TR KTC 3228-0-RD 
 Q604  48E23700S01  TR KTA 1275-0-RD 
 Q701  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q702  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q703  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q704  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q705  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q706  48E22900S01  TR,2SA1037K-Q,R,S-CP 



 Q707  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q801  48E22900S01  TR,2SA1037K-Q,R,S-CP 
 Q802  48E23697S01  TR,DTA 144EK-T146-CP 
 Q803  48E22555S01  TR,DTC 144EK-T146-CP 
 Q804  48E22902S01  TR,2SC2412K-Q,R,S-T146-CP 
 Q805  48E31104S01  TR,KTC2874-B-RD 
 Q806  48E31104S01  TR,KTC2874-B-RD 
 Q901  48E23700S01  TR KTA 1275-0-RD 
 Q902  48E22903S01  TR,DTC 143EK-T-146-CP 
=======Diodes     
 D501  48E22916S01  DIO,1SS133-T-77-AX 
 D502  48E22916S01  DIO,1SS133-T-77-AX 
 D503  48E22916S01  DIO,1SS133-T-77-AX 
 D504  48E22916S01  DIO,1SS133-T-77-AX 
 D602  48T65059W01  DIO,REC F10P20F 
 D603  48T65059W02  DIO,REC F10P20FR 
 D701  48E22916S01  DIO,1SS133-T-77-AX 
 D702  48E22916S01  DIO,1SS133-T-77-AX 
 D801  48E23703S01  DIO,1N 4003-AX 
 D802  48E22916S01  DIO,1SS133-T-77-AX 
 D803  48E22916S01  DIO,1SS133-T-77-AX 
 D804  48E22916S01  DIO,1SS133-T-77-AX 
 D805  48E23703S01  DIO,1N 4003-AX 
 D901  48E23703S01  DIO,1N 4003-AX 
 ZD601  48E22436S01  DIO,ZEN,MTZ-J-16-B-AX 
 ZD602  48E22436S01  DIO,ZEN,MTZ-J-16-B-AX 
 ZD701  48E08332S01  DIO,ZEN,MTZ-J-22-B-AX 
 ZD801  48E22917S01  DIO,ZEN,MTZ-J-6.8-A-AX 
=======Coil      
 T901  24E26126S01  CHOKE TRANS 28m/m 
=======Thermistor      
 TH701  48E20887S01  TH,YTD5-320(20K)-YEL 
=======Transfomer      
 T601  25E29257S01  ASS'Y POWER TRANS (7T/13T) 
=======Switch      
 SW201  40E20895S01  S/W SSAF 123NA 

(FILTER(80Hz)) 
=======Capacitors      
 C103  08E28764S01  CAP,CER 101-J-SL1H-CP 
 C104  08E28764S01  CAP,CER 101-J-SL1H-CP 
 C105  08E28764S01  CAP,CER 101-J-SL1H-CP 
 C106  08E28764S01  CAP,CER 101-J-SL1H-CP 
 C107  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C108  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C109  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C110  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C111  08E28762S01  CAP,CER 33R-J-SL1H-CP 
 C112  08E28762S01  CAP,CER 33R-J-SL1H-CP 
 C113  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C114  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C115  08E28769S01  CAP,CER 102-K-SL1H-CP 
 C121  08E28769S01  CAP,CER 102-K-SL1H-CP 



 C123  08E28769S01  CAP,CER 102-K-SL1H-CP 
 C124  08E28769S01  CAP,CER 102-K-SL1H-CP 
 C201  08E33406S01  CAP,MYL,333-J-RD(8.0*12) 
 C202  08E33406S01  CAP,MYL,333-J-RD(8.0*12) 
 C203  08E34952S01  CAP,MYL,822-J-RD 
 C204  08E34952S01  CAP,MYL,822-J-RD 
 C205  08E34953S01  CAP,MYL,183-J-RD 
 C206  08E34953S01  CAP,MYL,183-J-RD 
 C207  08E34953S01  CAP,MYL,183-J-RD 
 C208  08E34953S01  CAP,MYL,183-J-RD 
 C209  08E33353S01  CAP,MYL,223-J-RD(7.1*12) 
 C210  08E33353S01  CAP,MYL,223-J-RD(7.1*12) 
 C211  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C212  08E28760S01  CAP,CER 10R-D-SL1H-CP 
 C501  08E31814S01  CAP,CER 561-K-SL1H-CP 
 C502  08E31814S01  CAP,CER 561-K-SL1H-CP 
 C503  08E28769S01  CAP,CER 102-K-SL1H-CP 
 C504  08E28769S01  CAP,CER 102-K-SL1H-CP 
 C505  08E32049S01  CAP,CER 5R0-C-SL1H-CP 
 C506  08E32049S01  CAP,CER 5R0-C-SL1H-CP 
 C507  08E33405S01  CAP,MYL,103-J-RD(5.0*12) 
 C508  08E33405S01  CAP,MYL,103-J-RD(5.0*12) 
 C509  08E29171S01  CAP,CER 18R-J-SL1H-CP 
 C510  08E29171S01  CAP,CER 18R-J-SL1H-CP 
 C511  08E31812S01  CAP,CER 68R-J-SL1H-CP 
 C512  08E31812S01  CAP,CER 68R-J-SL1H-CP 
 C513  08E31812S01  CAP,CER 68R-J-SL1H-CP 
 C514  08E31812S01  CAP,CER 68R-J-SL1H-CP 
 C515  08E33668S01  CAP,MYL,473-J-RD(9.0*12) 
 C516  08E33668S01  CAP,MYL,473-J-RD(9.0*12) 
 C601  08E25318S01  CAP,TF,AMCS 152-J-RD 
 C603  08E33353S01  CAP,MYL,223-J-RD(7.1*12) 
 C604  08E33353S01  CAP,MYL,223-J-RD(7.1*12) 
 C605  08E33668S01  CAP,MYL,473-J-RD(9.0*12) 
 C606  08E33668S01  CAP,MYL,473-J-RD(9.0*12) 
 C607  08E33405S01  CAP,MYL,103-J-RD(5.0*12) 
 C608  08E33405S01  CAP,MYL,103-J-RD(5.0*12) 
 C901  08E31021S01  CAP, MF 154-J-63V-RD 
 E101  23E33350S01  CAP,ELEC,SHL 10/50-M-RD 
 E102  23E33350S01  CAP,ELEC,SHL 10/50-M-RD 
 E103  23E33350S01  CAP,ELEC,SHL 10/50-M-RD 
 E104  23E33350S01  CAP,ELEC,SHL 10/50-M-RD 
 E201  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E202  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E203  23E34948S01  CAP ELEC SHL 0.22/50-M-RD 
 E204  23E34948S01  CAP ELEC SHL 0.22/50-M-RD 
 E205  23E34949S01  CAP,ELEC,SHL 0.33/50-M-RD 
 E206  23E34949S01  CAP,ELEC,SHL 0.33/50-M-RD 
 E207  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E208  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E301  23E33351S01  CAP,ELEC,SHL 22/50-M-RD 
 E302  23E33351S01  CAP,ELEC,SHL 22/50-M-RD 



 E501  23E33351S01  CAP,ELEC,SHL 22/50-M-RD 
 E502  23E33351S01  CAP,ELEC,SHL 22/50-M-RD 
 E503  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E504  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E505  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E506  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E507  23E33663S01  CAP,ELEC,SHL 220/10-M-RD 
 E508  23E33663S01  CAP,ELEC,SHL 220/10-M-RD 
 E509  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E510  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E601  23E34950S01  CAP ELEC SHL 10/25-M-RD 
 E602  23E34950S01  CAP ELEC SHL 10/25-M-RD 
 E603  23E29269S01  CAP,ELEC,3300/16-M 
 E604  23E34951S01  CAP ELEC SHL 1000/35-M-RD 
 E605  23E34951S01  CAP ELEC SHL 1000/35-M-RD 
 E606  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E607  23E33664S01  CAP,ELEC,SHL 0.47/50-M-RD 
 E608  23E33348S01  CAP,ELEC,SHL 47/25-M-RD 
 E609  23E33348S01  CAP,ELEC,SHL 47/25-M-RD 
 E701  23E11142S01  CAP,ELEC,100/10-M-BP-RD 
 E702  23E33398S01  CAP,ELEC,SHL 2.2/50-M-RD 
 E703  23E33401S01  CAP,ELEC,SHL 100/10-M-RD 
 E704  23E33663S01  CAP,ELEC,SHL 220/10-M-RD 
 E705  23E34950S01  CAP ELEC SHL 10/25-M-RD 
 E801  23E33663S01  CAP,ELEC,SHL 220/10-M-RD 
 E802  23E34950S01  CAP ELEC SHL 10/25-M-RD 
 E803  23E34950S01  CAP ELEC SHL 10/25-M-RD 
=======Resistors      
 CJ001  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ002  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ003  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ004  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ005  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ006  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ007  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ008  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ009  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ010  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ011  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ012  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ013  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ014  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ015  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ016  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ017  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ018  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ019  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ021  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ022  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ023  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ024  06E22039S01  RES,CF,0R0-J-1/8-CP 
 CJ025  06E22039S01  RES,CF,0R0-J-1/8-CP 



 R101  06E28535S01  RES,CF,223-J-1/16-CP 
 R102  06E28535S01  RES,CF,223-J-1/16-CP 
 R103  06E32035S01  RES,CF,113-J-1/16-CP 
 R104  06E23685S01  RES,CF,113-J-1/8-CP 
 R105  06E32035S01  RES,CF,113-J-1/16-CP 
 R106  06E32035S01  RES,CF,113-J-1/16-CP 
 R107  06E28535S01  RES,CF,223-J-1/16-CP 
 R108  06E28535S01  RES,CF,223-J-1/16-CP 
 R109  06E28533S01  RES,CF,102-J-1/16-CP 
 R110  06E28533S01  RES,CF,102-J-1/16-CP 
 R111  06E28788S01  RES,CF,122-J-1/16-CP 
 R112  06E28788S01  RES,CF,122-J-1/16-CP 
 R113  06E32037S01  RES,CF,124-J-1/16-CP 
 R114  06E32037S01  RES,CF,124-J-1/16-CP 
 R115  06E32037S01  RES,CF,124-J-1/16-CP 
 R116  06E32037S01  RES,CF,124-J-1/16-CP 
 R117  06E33657S01  RES,CF,153-F-1/16-CP 
 R118  06E33657S01  RES,CF,153-F-1/16-CP 
 R119  06E33657S01  RES,CF,153-F-1/16-CP 
 R120  06E33657S01  RES,CF,153-F-1/16-CP 
 R121  06E33657S01  RES,CF,153-F-1/16-CP 
 R122  06E33657S01  RES,CF,153-F-1/16-CP 
 R123  06E33657S01  RES,CF,153-F-1/16-CP 
 R124  06E33657S01  RES,CF,153-F-1/16-CP 
 R125  06E28622S01  RES,CF,682-J-1/16-CP 
 R126  06E28622S01  RES,CF,682-J-1/16-CP 
 R127  06E28622S01  RES,CF,682-J-1/16-CP 
 R128  06E28622S01  RES,CF,682-J-1/16-CP 
 R129  06E31152S01  RES,CF,152-J-1/16-CP 
 R130  06E31152S01  RES,CF,152-J-1/16-CP 
 R131  06E32033S01  RES,CF,911-J-1/16-CP 
 R132  06E32033S01  RES,CF,911-J-1/16-CP 
 R201  06E31803S01  RES,CF,513-J-1/16-CP 
 R202  06E31803S01  RES,CF,513-J-1/16-CP 
 R203  06E32037S01  RES,CF,124-J-1/16-CP 
 R204  06E32037S01  RES,CF,124-J-1/16-CP 
 R205  06E32037S01  RES,CF,124-J-1/16-CP 
 R206  06E32037S01  RES,CF,124-J-1/16-CP 
 R207  06E23735S01  RES,CF,911-J-1/8-CP 
 R208  06E23735S01  RES,CF,911-J-1/8-CP 
 R209  06E31160S01  RES,CF,473-J-1/16-CP 
 R210  06E31160S01  RES,CF,473-J-1/16-CP 
 R211  06E31163S01  RES,CF,224-J-1/16-CP 
 R212  06E31163S01  RES,CF,224-J-1/16-CP 
 R213  06E28794S01  RES,CF,273-J-1/16-CP 
 R214  06E28794S01  RES,CF,273-J-1/16-CP 
 R217  06E29209S01  RES,CF,512-J-1/8-CP 
 R218  06E29209S01  RES,CF,512-J-1/8-CP 
 R219  06E31683S01  RES,CF,154-J-1/16-CP 
 R220  06E31683S01  RES,CF,154-J-1/16-CP 
 R221  06E31156S01  RES,CF,512-J-1/16-CP 
 R222  06E31156S01  RES,CF,512-J-1/16-CP 



 R223  06E23736S01  RES,CF,152-J-1/8-CP 
 R224  06E23736S01  RES,CF,152-J-1/8-CP 
 R225  06E31156S01  RES,CF,512-J-1/16-CP 
 R226  06E31156S01  RES,CF,512-J-1/16-CP 
 R301  06E28791S01  RES,CF,912-J-1/16-CP 
 R302  06E28791S01  RES,CF,912-J-1/16-CP 
 R303  06E33277S01  RES,CF,432-J-1/16-CP 
 R304  06E33277S01  RES,CF,432-J-1/16-CP 
 R501  06E28788S01  RES,CF,122-J-1/16-CP 
 R502  06E28788S01  RES,CF,122-J-1/16-CP 
 R503  06E28792S01  RES,CF,123-J-1/16-CP 
 R504  06E28792S01  RES,CF,123-J-1/16-CP 
 R505  06E31172S01  RES,CF,47R-J-1/16-CP 
 R506  06E31172S01  RES,CF,47R-J-1/16-CP 
 R507  06E31172S01  RES,CF,47R-J-1/16-CP 
 R508  06E31172S01  RES,CF,47R-J-1/16-CP 
 R509  06E28548S01  RES,CF,471-J-1/16-CP 
 R510  06E28548S01  RES,CF,471-J-1/16-CP 
 R511  06E28786S01  RES,CF,331-J-1/16-CP 
 R512  06E28786S01  RES,CF,331-J-1/16-CP 
 R513  06E34946S01  RES,CF,241-J-1/16-CP 
 R514  06E34946S01  RES,CF,241-J-1/16-CP 
 R515  06E32032S01  RES,CF,111-J-1/16-CP 
 R516  06E32032S01  RES,CF,111-J-1/16-CP 
 R517  06E31172S01  RES,CF,47R-J-1/16-CP 
 R518  06E31172S01  RES,CF,47R-J-1/16-CP 
 R519  06E28788S01  RES,CF,122-J-1/16-CP 
 R520  06E28788S01  RES,CF,122-J-1/16-CP 
 R521  06E28950S01  RES,CF,823-J-1/8-CP 
 R522  06E28950S01  RES,CF,823-J-1/8-CP 
 R523  06E34947S01  RES,CF,163-J-1/16-CP 
 R524  06E34947S01  RES,CF,163-J-1/16-CP 
 R525  06E33234S01  RES,CF,752-J-1/16-CP 
 R526  06E33234S01  RES,CF,752-J-1/16-CP 
 R527  06E31174S01  RES,CF,332-J-1/16-CP 
 R528  06E31174S01  RES,CF,332-J-1/16-CP 
 R529  06E34945S01  RES,CF,181-J-1/8-CP 
 R530  06E34945S01  RES,CF,181-J-1/8-CP 
 R531  06E34945S01  RES,CF,181-J-1/8-CP 
 R532  06E34945S01  RES,CF,181-J-1/8-CP 
 R533  06E24395S01  RES,CF, 181R-J-1/4-CP 
 R534  06E24395S01  RES,CF, 181R-J-1/4-CP 
 R535  06E28534S01  RES,CF,103-J-1/16-CP 
 R536  06E28534S01  RES,CF,103-J-1/16-CP 
 R537  06E22030S01  RES,CF,102-J-1/8-CP 
 R538  06E28533S01  RES,CF,102-J-1/16-CP 
 R539  06E31152S01  RES,CF,152-J-1/16-CP 
 R540  06E31152S01  RES,CF,152-J-1/16-CP 
 R541  06E32024S01  RES, MPR 0.1J-3WX2 
 R542  06E32024S01  RES, MPR 0.1J-3WX2 
 R543  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 
 R544  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 



 R545  06E28792S01  RES,CF,123-J-1/16-CP 
 R546  06E28792S01  RES,CF,123-J-1/16-CP 
 R601  06E31175S01  RES,CF,822-J-1/16-CP 
 R602  06E28793S01  RES,CF,183-J-1/16-CP 
 R603  06E23702S01  RES,MO,221-J-1/2W-AX 
 R604  06E23702S01  RES,MO,221-J-1/2W-AX 
 R605  06E22040S01  RES,CF,10R-J-1/10-CP 
 R606  06E22040S01  RES,CF,10R-J-1/10-CP 
 R608  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 
 R609  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 
 R610  06E22929S01  RES,CF, 332-J-1/4-CP 
 R611  06E22929S01  RES,CF, 332-J-1/4-CP 
 R612  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 
 R613  06E20907S01  RES MO 1W ERG 1SJ 100E-RD 
 R701  06E28533S01  RES,CF,102-J-1/16-CP 
 R702  06E28533S01  RES,CF,102-J-1/16-CP 
 R703  06E28533S01  RES,CF,102-J-1/16-CP 
 R704  06E31174S01  RES,CF,332-J-1/16-CP 
 R705  06E28533S01  RES,CF,102-J-1/16-CP 
 R706  06E28548S01  RES,CF,471-J-1/16-CP 
 R707  06E28537S01  RES,CF,104-J-1/16-CP 
 R708  06E31157S01  RES,CF,203-J-1/16-CP 
 R709  06E28790S01  RES,CF,562-J-1/16-CP 
 R710  06E31800S01  RES,CF,151-J-1/16-CP 
 R711  06E22036S01  RES,CF,223-J-1/8-CP 
 R712  06E31157S01  RES,CF,203-J-1/16-CP 
 R713  06E28534S01  RES,CF,103-J-1/16-CP 
 R714  06E28534S01  RES,CF,103-J-1/16-CP 
 R715  06E31806S01  RES,CF,244-J-1/16-CP 
 R716  06E32048S01  RES,CF,514-J-1/16-CP 
 R717  06E28549S01  RES,CF,472-J-1/16-CP 
 R718  06E28796S01  RES,CF,623-J-1/16-CP 
 R719  06E31160S01  RES,CF,473-J-1/16-CP 
 R720  06E32034S01  RES,CF,202-J-1/16-CP 
 R801  06E23686S01  RES,CF,123-J-1/8-CP 
 R802  06E28537S01  RES,CF,104-J-1/16-CP 
 R803  06E22033S01  RES,CF,472-J-1/8-CP 
 R804  06E28537S01  RES,CF,104-J-1/16-CP 
 R805  06E32034S01  RES,CF,202-J-1/16-CP 
 R806  06E28537S01  RES,CF,104-J-1/16-CP 
 R807  06E32034S01  RES,CF,202-J-1/16-CP 
 R808  06E31685S01  RES,CF,105-J-1/16-CP 
 R809  06E31684S01  RES,CF,684-J-1/16-CP 
 R810  06E31160S01  RES,CF,473-J-1/16-CP 
 R811  06E31160S01  RES,CF,473-J-1/16-CP 
 R812  06E28537S01  RES,CF,104-J-1/16-CP 
 R813  06E28790S01  RES,CF,562-J-1/16-CP 
 R814  06E28790S01  RES,CF,562-J-1/16-CP 
 R901  06E28534S01  RES,CF,103-J-1/16-CP 
 R902  06E28534S01  RES,CF,103-J-1/16-CP 
 R903  06E23739S01  RES,CF,154-J-1/8-CP 
 R904  06E31174S01  RES,CF,332-J-1/16-CP 



 R905  06E23694S01  RES,CF, 272-J-1/4-CP 
 R907  06E30008S01  RES,CF,562-J-1/4-CP 
 VR101  18E20880S01  VR,50KAX2 RK0971210 
      (GAIN) 
 VR103  18E27746S01  VR 5KEX2(RK0971210) 
      (BASS EQ) 
=======Connector      
 CON901 09E27780S01  CONN BASE, GIL-S-02P-S2T2 
 
*******LED P.W.Board      
=======LED      
 LED901 48E34944S01  LED-LAMP BLUE,YLB-304W,3 
=======Connector      
 CN902  01E28616S01  2P CONNECTOR ASS'Y 
 
*******Miscellaneous      
 BLT501  09E32029S01  BLOCK TERMINAL 4P 
      (SPEAKER OUTPUT) 
 BLT901  09E32028S01  FUSE TERMINAL 3P 
      (POWER SUPPLY) 
 CN101  09E23819S01  CONN BASE 5569-04AI(BLACK) 
      (SPEAKER LEVEL INPUT) 
 F901  65E25313S01  FUSE,AUTO 20A(257020) 
      (For Battery Line) 
 RCA101 09E32026S01  RCA JACK 02P(ISLOLATED) 
      (INPUT) 



13
x6

7

x2
13

21

x2

X2

14

X2
12

X2
12

X2
14

5

13

X2
10

3

X2
15

10

X2
24

25
X2

X2
26

X2
26

25
X2

24

11 X3

4

15 X2

11 X3

2

X2
15

10

E

EC

A

B

C

D

D

A

B

22

X2
16

FG

F

G

X2
9

6

20
x4

X2
16

17

17

BLT501

BLT901

CN101

RCA101

8

18

x2

x2

X2

29
X2

27

28

2/1 CHANNEL POWER AMPLIFIER MRP-T220

23

23

1

F901

Exploded View (Cabinet)

24

TO CONTENTSTO PARTS LIST



MRP-T220 
 

Cabinet Assembly Parts List 
 
Note : *The part that has not PART NUMBER will not be supplied. 
 
 7 07E11146S01  BKT,TR 
 8 15E34943S01  HOLDER,LED 
 9 03E24424S01  SCR,M2.6X5(B)TPG-TPT(YEL) 
 10 03E09416S10  SCR,M3X8(P)TPG-TPT(BLK) 
 11 03E22133S01  SCR,M2.6X6(B)MCH-TPT(BLK) 
 12 03E29347S01  SCR,M3x11(W)TPG-TPT(YEL) 
 13 03E20922S01  SCR,M3X11(S.W)TPG-TPT(YEL) 
 14 03E34940S01  SCR,M3X14(SW)TPG-TPT(YEL) 
 15 03E20077S01  SCR,M3X6(B)TPG-TPT(BLK) 
 16 03E09417S10  SCR,M3X10(B)TPG-TPT(YEL) 
 18 61E34941S01  LENS,LED 
 20 14E11487S01  INSULATOR,SHEET-B 
 21 14E20977S01  INSULATOR,SHEET-A 
 22 07E27744S01  BKT, GND-(A) 
 23 29E23793S01  LUG,GND 
 24 29E34942S01  LEG,MTG 
 25 03E34938S01  SCR,M3X11(B)MCH-TPT(BLK) 
 26 03E20919S01  SCR,M3X8(B)TPG-TPT(BLK) 
 29 03E34939S01  WRENCH BOLT,M2.6X11(WHT) 


	MRPT220 1
	MRPT220 2
	MRPT220 3
	MRPT220 4

